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a+b)? =a®+2ab +b?
a-b)? =a® - 2ab + b?
a+b)(a-b)=a*-b*

x+a)(x+b)=x*+(a+b)x+ab

© © © C>@D

ax + b)(cx +d) = acx® + (ad + bc)x + bd

~&B

HAL7k9 ABCD ©| WOl (a+ b)? ot
P+Q+R+S = HAZHE ABCD o] Yo} 2t}
P=d% Q=uab, R=ab, S=>0%°|t}.
w2tA (a + b)? = a® + 2ab + b? O[T}
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(x-4)(x+2)=x>-[ k-8
(—x+20)(x+[ ) =-22+42
(a+2)(3a-4) =3a>+[ Ja-8
@(2x+1) =4+ 41

® (x+y-2)(x+y+2) =22+ ly+y?-4
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(x4 2)(x + 3)(x — 2)(x — 3) <] AN A x? o] Al5=2t AF4=3F9]
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(x+2)(x +3)(x - 2)(x — 3)

— {(x+2)(x - DN(x + 3)(x - 3))
=(x?-4)(x2-9)

=x* - 13x% + 36

v —13436 =23




4. (x+a)(x-4)=x*-*L4d Y, a+b9F2?(Fb>0)
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(x+a)(x—4) =x*>+ (a-4)x—4a = x*> - b?
a-4=0°B2 g=4

b2 = 4da = 160|128 b =4 (- b > 0)
“a+b=4+4=38




